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QUESTION 1

Regarding the BGP ring protection mechanism, the following description is correct? 

A. A AS_PATH attribute is used between autonomous systems to prevent ring cats. 

B. The Cluster List property is used for reflector cluster inner ring defense, and the router finds that the Cluster List of
route entries contains its own Client lD The route is rejected 

C. Routes learned from IBGP are not advertised to IBGP neighbors and are used to prevent routing loops inside the AS 

D. You can use the AS_CONFED_SET attribute to prevent loops within a consortium: 

Correct Answer: ACD 

 

QUESTION 2

In a network, the same gigabit running S and OSPF anti-tampering and fluttering as shown in the figure, on the two
border routers RTB and RTC are introduced into the wine route, the device question is to use gigabit one port strobe, ,
222 The network is introduced into the OSE via impotrote direct on the RTD, assuming that all other configurations are
dead default configurations, then the description of this network is wrong ? 

A. Adjusting the ISIS priority to 160 on the RTB avoids suboptimal routing problems in the network. 

B. On the RTC, the following configuration is adopted, only the routes of the 2222/32 cinder segment can be filtered out
when routing is introduced, IRTClip ip-prefix 10 index 1 deny2 000 8 less-equal 32 

C. RTB learns that the routing next hop for the 2222/32 network segment is RTA 

D. The following configuration can filter out the routes of the 2222/32 CIDR block of the white RTD when RTC
introduces OSPF routes. 

Correct Answer: B 
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QUESTION 3

The following description of the attributes of BGP is correct?( Single choice questions). 

A. The AS deficit of the adjacent AS is ranked at the far right of the list of AS_Path in the BGP route entry. 

B. When the B. BGP Speaker publishes a route learned from an EBGP peer to an IBGP peer, it does not change the
next hop attribute of that routing information. 

C. Local_Pref is valid only between EBGP peers and is not advertised to third-party AS. 

D. A route can have only one community attribute value. 

Correct Answer: B 

 

QUESTION 4

There is an existing router running OSPF HWL, HW1 interface serial0 is published in zone 1, configure commands
under the OSPF process nssa default-route-advertise, based on the previous description, infers which of the following
options are correct? 

A. When HW1 injects a default route into Zone 1, HW1\\'s local route table can not contain a single default route 

B. HW1 injects a Type 7 default route into Zone 0 

C. HW1 injects a type 7 default route into zone 1 

D. HW1 injects a Type 3 default route into Zone 1 

E. When HW1 injects a default route into zone 1, HW1\\'s local route table needs to answer the default route 

Correct Answer: CE 

 

QUESTION 5

When you deploy BGP/MPLSIPVPN, when two VPNs have a common site, the common site must not use 

overlapping address spaces with the other sites of the two VPNs. 

The series description for configuring static lSPs in MPLS networks is correct? 

A. When an LSR is Ingress LSR, only configure Out Label, which ranges from 16-1048575 

B. When an LSR is a Transit LSR, you need to configure both In Label and Out label, both in the range of 16-1023 

C. When an LSR is TransitLSR, you need to configure both ln Label and Out Label, both of which are 161023 The Out
Label ranges from 16 to 1048575 

D. When an LSR is An Egyptian LSR, only in Label needs to be configured, ranging from 16-1023 

Correct Answer: BD 
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